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1. A consumer has the utility function u = y/"'y'*, where y; and y; are the amount of

money spent on consumption in year 1 and vear 2 respectively, The consumer is
sure to receive incomes of 3, and ¥, inyear | and year 2. i Suppase that the
consumer can borrow or lend at a given market interest rate, r. Let b denote the
amount borrowed (b=>0} or lent (b<0).

3. Write.down the consumer’s aptimization problem. (5%)

b. Show that the consumer borrows or lends up to the point at which his time

preference rate is just equal to the market interest rate, (5%) A

¢. Detive the consumer’s consumption demand function and demand for

borrowingAending function. (5%)

2. Suppose the cost function is ¢ {y )=6 y* +24, for y>0 and ¢ (0)=0. The inverse
demand functionis p=48 - 18 y.
a. Does there exist a competitive equilibrium in this industry? (5%)
Now suppose there is only one firm, and this firm is a monopolist, _
b. What is the price in equilibrium? What is the profit of the monopolist? (5%)
¢. What is consumers’ surplus in this equilibrium? Is this society better-off
having this commodity provided by 3 moropolist or would it be better to
shutdows this industry? (5%)

3. Suppose all firms in an industry have the following long-run total cost curve:
c(y)=0 .5y 420y, _ .

a. Suppose the number of (identical) firms is n .Let Y denote the aggregate
industry supply. Derive an expression for the aggregate supply as a ﬁmctmn
of the market price P and 0} i.e,, Y as a function of P and n. {5%)

b. Suppose the market demand curve has the equation Y =30. P Use YOUr answer
above to compute the equilibrium price in the industry when the number of
firms is n, Le., write an expression for the equilibrium price as a function of a.

(5%)

c. Daes each firm make a positive profit-regardless of the value of n?  Will

*-there always be a reason for new firms to enter this industry? (5%)

d. Does the aggregate output converge to some level 25 n tends to infinity? If
s0 what is this? What is the corresponding equilibrium price and profit of
each firm (as n tends to inﬂnity)? (5%)
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